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QUESTION 1

What happens first when a client requests to join a WLAN? 

A. 802. 11 authentication 

B. ARP request 

C. 802.11 association 

D. DHCP discovery 

Correct Answer: A 

Reference: https://netbeez.net/blog/how-wifi-connection-works/ 

 

QUESTION 2

A customer is replacing their previous WLAN controller with a Mist Edge to maintain centralization of user traffic. How
does Mist Edge affect control plane forwarding and data plane forwarding in this scenario? 

A. Control plane forwarding applies to the Mist Cloud and data plane forwarding applies to the Mist Edge. 

B. Control plane forwarding applies to the Mist Edge and data plane forwarding applies to the Mist Edge. 

C. Control plane forwarding applies to the Mist Cloud and data plane forwarding applies to the Mist Cloud. 

D. Control plane forwarding applies to the Mist Edge and data plane forwarding applies to the Mist Cloud. 

Correct Answer: D 

Reference: https://www.mist.com/wp-content/uploads/Mist-Edge-General-Config-Guide- 1.pdf 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, as part of the Throughput SLE in the Mist UI, the Coverage classifier indicates the signal
strength of which device? 

A. the AP\\'s radio strength 

B. the signal strength between APs 

C. the client 

D. the AP\\'s radio for a single SSID 

Correct Answer: C 

 

QUESTION 4

You are troubleshooting a client that has had intermittent connectivity problems. Using Marvis to troubleshoot, you see
that AP uptime is negatively affecting the client. When inspecting Marvis\\' troubleshooting response, which category
should you select to see when the AP went offline? 

A. Location 

B. Correlation 

C. AP Metrics 

D. Classifiers 

Correct Answer: C 

Reference: https://www.mist.com/documentation/metrics-on-the-access-points-page/ 

 

QUESTION 5
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Which two statements are true about 802.1X/EAP? (Choose two.) 

A. Credentials are exchanged with a RADIUS server prior to the 4-way Handshake. 

B. Credentials are exchanged with a RADIUS server after the 802.11 Association. 

C. Credentials are exchanged with a RADIUS server after the 4-way Handshake. 

D. Credentials are exchanged with a RADIUS server prior to the 802.11 Association. 

Correct Answer: AC 

 

QUESTION 6

A retail customer has legacy 2.4 GHz scanners that need to connect to the WLAN, but they are not connecting. 

Which WLAN data rate setting is required for these devices to connect? 

A. Custom Rates 

B. Compatible 

C. High Density 

D. No Legacy 

Correct Answer: B 

 

QUESTION 7

What is the AP\\'s role in the IEEE 802.1X authentication process? 

A. It acts as an authenticator. 

B. It acts as a RADIUS proxy server. 

C. It acts as a supplicant. 

D. It acts as an authentication server. 

Correct Answer: D 

 

QUESTION 8

RF templates are assigned to which Mist configuration object? 

A. config templates 

B. site groups 

C. WLANs 
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D. sites 

Correct Answer: A 

 

QUESTION 9

What is meant when a Marvis Action is shown as "AI Validated"? 

A. The issue which triggered an alert has been set to Resolved status. 

B. Marvis has observed a new issue. 

C. Marvis has observed a recurring issue. 

D. Marvis has observed an issue that is no longer present. 

Correct Answer: D 

Reference: https://www.mist.com/documentation/what-is-marvis-actions/ 

 

QUESTION 10

Your customer added an Apple TV in their conference room so that employees can easily share their screen. However,
the Apple TV cannot be discovered by the employees\\' devices. Which two settings are causing the problem? (Choose
two.) 

A. MDNS 

B. Broadcast/Multicast 

C. Ignore Broadcast SSID Probe Requests 

D. ARP 

Correct Answer: AD 

 

QUESTION 11

Click the Exhibit button. 
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Referring to the exhibit, in the USA, which two statements are correct? (Choose two.) 

A. The WLAN with SSID Eero1234 is not configured to industry best practices. 

B. The WLAN with SSID Eero1234 is configured to industry best practices. 

C. The WLAN with SSID NETGEAR24 is not configured to industry best practices. 

D. The WLAN with SSID NETGEAR24 is configured to industry best practices. 

Correct Answer: AC 

 

QUESTION 12

Some users cannot connect to the network. You want to identify these users. In Marvis, which query accomplishes this
task? 

A. troubleshoot access points 

B. unhappy clients 

C. troubleshoot clients 

D. list clients 

Correct Answer: D 

Reference: https://www.mist.com/documentation/useful-marvis-queries/ 

 

QUESTION 13

Which two events are displayed under the Client Events area found on the Insights page? (Choose two.) 

A. Reassociation 

B. Restart by User 
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C. Reflection (Loop Detection) 

D. DHCP Denied 

Correct Answer: AD 

 

QUESTION 14

Click the Exhibit button. 

Referring to the exhibit, what would a guest user be able to do? 

A. Use Gmail and Slack. 

B. Use the Internet, except for Gmail and Slack. 

C. Use the HP Printer and Internet. 

D. Use only the Intranet. 

Correct Answer: B 

 

QUESTION 15

What are basic data rates? 

A. fastest data rates 

B. optional data rates 

C. required data rates 

D. disabled data rates 

Correct Answer: C 
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